2023F4AFRE WHETAA AO-#EHFEH(BRAER+HFIEANER)

MEFRE  HREHA 2] g4 &t H

=R 1,095,191 1,151,616 2,246,807 1,036,505
=91 il 513,701 549,561 1,063,262 537,698
=91 fibE™m FER 140,611 153,025 293,636 157,854
=91 iLEm BHEHEX 91,852 96,644 188,496 97,459
=91 fibE™m HHE 67,174 70,502 137,676 70,543
=91 filEdm KBER 113,060 120,914 233,974 113,375
=91 filEm REX 101,004 108,476 209,480 98,467
=91 fBEM 65,930 69,876 135,806 62,161
HEHE IEET 25,103 27,193 52,296 24,058
=91 ST 28,112 30,258 58,370 26,149
=91 BAT 15,655 16,091 31,746 14,142
HEHE & EH 39,096 40,423 79,519 33,000
=91 AHET 13,505 13,583 27,088 11,441
HEHE ZEWh 30,760 31,306 62,066 28,090
=91 F=3hil 21,528 21,961 43,489 18,747
HEHE ko N7l 36,433 37,795 74,228 27,180
HEHE ERH 30,481 32,191 62,672 24,816
EHE HE™ 18,943 19,740 38,683 16,598
EHE N5 0] 61,419 63,357 124,776 52,836
EHE EA™ 25,708 26,507 52,215 20,237
EHE X FH &R 6,089 6,319 12,408 5,156
=51 MEE EERT 5,474 5,701 11,175 4,554
EHE MEE t4TEE 615 618 1,233 602
EHE LE AR 39,082 39,684 78,766 34,091
=51 SEHER Kinl[RHET 11,576 12,010 23,586 10,371
EHE SSHER FTEET 5,097 5,064 10,161 4,073
EHE SSHER SEHET 18,332 18,477 36,809 16,251
EHE SEEER I ET 4,077 4133 8,210 3,396
EHE FEER 6,106 6,002 12,108 4,939
EHE FEER HFRET 6,106 6,002 12,108 4,939
EHE HIEH 22,077 22,737 44,814 18,032
EHE HIFA BEIRfET 16,298 16,838 33,136 13,213
EHE HIEE (LUsTHT 5,779 5,899 11,678 4,819
EHE = L ER 33,018 33,999 67,017 26,673
EHE A tEET 6,422 6,842 13,264 5,742
EHE EIEER o iRET 8,924 8,960 17,884 6,844
EHE =LA FIFTET 17,672 18,197 35,869 14,087
EHE 21186 21,195 20,244 41,439 17,369
EHE Z)I1E KF0ET 14,502 13,596 28,098 12,342
EHE Z)I1ER KIERET 3,850 3,860 7,710 2,925
EHE Z)IE K&+ 2,843 2,788 5,631 2,102
=R HNEER 13,739 14,247 27,986 10,330
=R MNEEA ERRET 3,068 3,289 6,357 2,098
=R IESS: I ES: ) 10,671 10,958 21,629 8,232
=R 1= H #B 18,705 19,532 38,237 15,309
=R =EA EASHE 7,304 7,547 14,851 6,009
=R =HEAE EEBET 11,401 11,985 23,386 9,300
EHE 4t EEAR 2,934 2,994 5,928 3,014
EHE STREEER Zc)IET 2,934 2,994 5,928 3,014
=R AEEB 5,872 6,016 11,888 4,439
=R AEE m=[EET 5,872 6,016 11,888 4,439



